
QUIZ 8

First name:

Last name:

Student number:

Recitation section:

1. By recognizing the series as a Taylor (or Maclaurin) series evaluated at a particular value of x, find

the sum of
P1

n=0
(�1)n⇡2n+1

(2n+1)! 22n+1 = ⇡
2 � ⇡3

3! 23 + ⇡5

5! 25 � ⇡7

7! 27 + . . . .

2. Find the first three terms in the alternating series representation of the integral
R 1
0

18
x2+9 dx, obtained

by using first three nonvanishing terms in the Maclaurin series of the integrand f(x) = 18
x2+9 .

 



QUIZ 8

First name:

Last name:

Student number:

Recitation section:

1. By recognizing the series as a Taylor (or Maclaurin) series evaluated at a particular value of x, find

the sum of
P1

n=0
(�1)n⇡2n

(2n)! 22n = 1� ⇡2
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2. Find the first three terms in the alternating series representation of the integral
R 1
0

27
x2+9 dx, obtained

by using first three nonvanishing terms in the Maclaurin series of the integrand f(x) = 27
x2+9 .


